Annals of the University of Craiova, Mathematics and Computer Science Series Volume 39(2), 2012, Pages 288–298 ISSN: 1223-6934

Durrmeyer operators of King-type

OVIDIU T. POP, ADRIAN D. INDREA, AND PETRU I. BRAICA

ABSTRACT. A class of linear and positive operators which generalizes the classical Durrmeyer's operators in the King sense is constructed. For these operators, uniform convergence results, error estimations in terms of first modulus of continuity and Voronovskaja's type theorems are established.

2010 Mathematics Subject Classification. 41A10, 41A36. Key words and phrases. Bernstein's polynomials, King-type operator, Voronovskaja's type theorem.

1. Introduction

Let \mathbb{N} be the set of positive integers and $\mathbb{N}_0 = \mathbb{N} \cup \{0\}$. In 1967, J.L. Durrmeyer introduced in [5] a class of linear and positive operators $(D_m)_{m \in \mathbb{N}_0}$ defined for any $f \in L_1([0, 1])$, any $x \in [0, 1]$ and $m \in \mathbb{N}_0$ by

$$(D_m f)(x) = (m+1) \sum_{k=0}^m p_{m,k}(x) \int_0^1 p_{m,k}(t) f(t) dt, \qquad (1.1)$$

where $p_{m,k}$ are the Berstein's polynomials defined by

$$p_{m,k}(x) = \binom{m}{k} x^k (1-x)^{m-k}$$
(1.2)

for any $k \in \{0, 1, ..., m\}$. Regarding the operators from (1.1), are well known the following results:

Theorem 1.1. (see [9]) For any $f \in C([0, 1])$

$$\lim_{m \to \infty} D_m f = f \tag{1.3}$$

uniform on [0,1] and

$$|(D_m f)(x) - f(x)| \le 2\omega \left(f; \frac{1}{\sqrt{2m+6}}\right)$$
 (1.4)

for any $x \in [0, 1], f \in C([0, 1))$ and $m \in \mathbb{N}_0, m \ge 3$.

Theorem 1.2. (see [4]) Let $f \in L_1([0,1])$ be a bounded function on [0,1]. If f is two times differentiable in $x \in [0,1]$, then

$$\lim_{m \to \infty} m\left((D_m f)(x) - f(x) \right) = (1 - 2x) f^{(1)}(x) + x(1 - x) f^{(2)}(x).$$
(1.5)

Received November 15, 2012.

Here $f^{(s)}(x)$ denotes the *s*-order derivative of *f* with respect to *x*. We recall the following results from [8].

Let $I \subset \mathbb{R}$ be an interval of real axis, a, b, a', b' be real numbers such that $a < b, a' < b', [a, b] \subset I, [a', b'] \subset I$ and $[a, b] \cap [a', b'] \neq \emptyset$. Like usually, E(I) denotes the set of real valued functions defined on $I, C(I) = \{f \in E(I) | f - continuous \text{ on } I\}, B(I) = \{f \in E(I) | f - bounded \text{ on } I\}, C_B(I) = \{f \in C(I) | f - bounded \text{ on } I\}.$

For any $m \in \mathbb{N}$ consider the functions $\varphi_{m,k} : I \longrightarrow \mathbb{R}$ having the property $\varphi_{m,k} \geq 0$ for any $x \in [a',b'], k \in \{0,1,...,m\}$ and the linear positive functionals $A_{m,k} : E([a,b]) \longrightarrow \mathbb{R}, k \in \{0,1,...,m\}$. For $m \in \mathbb{N}$ let $L_m : E([a,b]) \longrightarrow E(I)$ be the operator defined by

$$(L_m f)(x) = \sum_{k=0}^{m} \varphi_{m,k}(x) A_{m,k}(f)$$
(1.6)

for any $f \in E([a, b])$ and $x \in I$. It is immediately that the operators (1.4) are linear and positive on $[a, b] \cap [a', b']$.

For $m \in \mathbb{N}, i \in \mathbb{N}_0$, let us to define $T_{m,i}$ by $(T_{m,i}L_m)(x) = m^i(L_m\psi_x^i)(x)$, thus

$$(T_{m,i}L_m)(x) = m^i \sum_{k=0}^m \varphi_{m,k}(x) A_{m,k}(\psi_x^i)$$
(1.7)

for any $x \in [a, b] \cap [a', b']$, where

$$\psi_x(t) = t - x,\tag{1.8}$$

for any $t \in I$. Next, let $s \in \mathbb{N}_0$ be fixed and s even. We suppose that the operators $(L_m)_{m\geq 1}$ verify the condition: there exists the smallest $\alpha_s, \alpha_{s+2} \in [0, \infty)$ so that the following:

$$\lim_{n \to \infty} \frac{(T_{m,j}L_m)(x)}{m^{\alpha_j}} = B_j(x) \in \mathbb{R}$$
(1.9)

holds for any $x \in [a,b] \cap [a',b'], j \in \{s,s+2\}$ and

$$\alpha_{s+2} < \alpha_s + 2. \tag{1.10}$$

Theorem 1.3. Let $f \in C([a,b])$ be given. If $x \in [a,b] \cap [a',b']$ and f is s-times differentiable in x, having the s-order derivate $f^{(s)}$ continuous in x, then the following identity:

$$\lim_{m \to \infty} m^{s - \alpha_s} \left\{ (L_m f)(x) - \sum_{i=0}^s \frac{f^{(i)}(x)}{m^i i!} (T_{m,i} L_m)(x) \right\} = 0$$
(1.11)

holds.

If f is s-times differentiable on [a, b], the function $f^{(s)}$ is continuous on [a, b] and there exists $m(s) \in \mathbb{N}, k_j \in \mathbb{R}$ such that for any $m \in \mathbb{N}, m \ge m(s), x \in [a, b] \cap [a', b'], j \in \{s, s+2\}$ the inequality

$$\frac{(T_{m,j}L_m)(x)}{m^{\alpha j}} \le k_j \tag{1.12}$$

holds, then the convergence from (1.11) is uniform on $[a,b] \cap [a',b']$ and

$$m^{s-\alpha_{s}} \left| (L_{m}f)(x) - \sum_{i=0}^{s} \frac{f^{(i)}(x)}{m^{i}i!} (T_{m,j}L_{m})(x) \right| \\ \leq \frac{1}{s!} (k_{s} + k_{s+2}) \omega \left(f^{(s)}; \frac{1}{\sqrt{m^{2+\alpha_{s}-\alpha_{s+2}}}} \right)$$
(1.13)

for any $x \in [a, b] \cap [a', b']$ and $m \in \mathbb{N}, m \ge m(s)$.

In [6], J.P. King constructed a sequence $(L_m)_{m\in\mathbb{N}_0}$ of positive linear operators defined on C([0,1]) which preserve the test functions e_0 and e_2 , i.e. $L_m(e_0) = e_0$, $L_m(e_2) = e_2$, where $e_i : [0,1] \longrightarrow \mathbb{R}, e_i(x) = x^i$, for $i \in \{0,1,2\}$.

In what follows, King-type operator means a linear positive operator which preserve exactly two test functions from the set $\{e_0, e_1, e_2\}$.

In the second section, we define the general form of Durrmeyer operators. In the following sections of this paper, we construct Durrmeyer operators of King-type. We study, in each case, the uniform convergence, the approximation order in terms of first modulus of continuity ω and a Voronovskaja's type theorem of these operators.

2. The general form of Durrmeyer operators

For $m, k, p \in \mathbb{N}_0, k \leq m$, is well known the following result (see [9])

$$\int_0^1 p_{m,k}(t)t^p dt = \frac{(k+p)!}{k!} \frac{m!}{(m+p+1)!}.$$
(2.1)

Let $I \subset [0,1]$ be an interval, $m_0 \in \mathbb{N}_0$, $m_0 \ge 2$ fixed, $\mathbb{N}_1 = \{m \in \mathbb{N} | m \ge m_0\}$, the functions $\alpha_m, \beta_m : I \longrightarrow \mathbb{R}, \alpha_m(x) \ge 0, \beta_m(x) \ge 0$, for any $x \in I$ and $m \in \mathbb{N}_1$.

By using the idea of Durrmeyer operators construction, we consider operators of a general form defined by

$$(Q_m f)(x) = (m+1) \sum_{k=0}^{m} {m \choose k} (\alpha_m(x))^k (\beta_m(x))^{m-k} \int_0^1 p_{m,k}(t) f(t) dt, \qquad (2.2)$$

where $x \in I, m \in \mathbb{N}_1$ and $f \in L_1([0, 1])$.

The operators $(Q_m)_{m \in \mathbb{N}_1}$ are called *Durrmeyer type operators*.

Remark 2.1. The operators $Q_m, m \in \mathbb{N}_1$, are linear and positive.

Remark 2.2. Consider [a, b] = [0, 1] and [a', b'] = I,

$$\varphi_{m,k}(x) = (m+1) \binom{m}{k} (\alpha_m(x))^k (\beta_m(x))^{m-k}$$
(2.3)

and

$$A_{m,k}(f) = \int_0^1 p_{m,k}(t)f(t)dt,$$
(2.4)

where $x \in I$, $m \in \mathbb{N}_1$, $k \in \{0, 1, ..., m\}$ and $f \in L_1([0, 1])$. Then

$$(Q_m e_0)(x) = (\alpha_m(x) + \beta_m(x))^m,$$
 (2.5)

$$(Q_m e_1)(x) = \frac{(\alpha_m(x) + \beta_m(x))^{m-1}}{m+2} (m\alpha_m(x) + \alpha_m(x) + \beta_m(x)),$$
(2.6)

and

$$(Q_m e_2)(x) = \frac{(\alpha_m(x) + \beta_m(x))^{m-2}}{(m+2)(m+3)} \cdot \left((m(m-1)(\alpha_m(x))^2 + 4m\alpha_m(x) \cdot (\alpha_m(x) + \beta_m(x)) + 2(\alpha_m(x) + \beta_m(x))^2 \right).$$
(2.7)

3. Durrmeyer operators preserving the test functions e_0 and e_1

In this section we construct a sequence of Durrmeyer operators as defined in section 2, which preserve the test functions e_0 and e_1 .

Imposing the conditions $(Q_m e_0)(x) = e_0(x)$ and $(Q_m e_1)(x) = e_1(x)$, for any $x \in I$ and $m \in \mathbb{N}_1$ and taking into account (2.5) and (2.6), we obtain

$$\alpha_m(x) = \frac{(m+2)x - 1}{m},$$
(3.1)

$$\beta_m(x) = \frac{m+1 - (m+2)x}{m},$$
(3.2)

for any $x \in I$ and $m \in \mathbb{N}_1$.

The conditions $\alpha_m(x) \ge 0$ and $\beta_m(x) \ge 0$, for any $x \in I$ and $m \in \mathbb{N}_1$, imply

$$\frac{1}{m+2} \le x \le \frac{m+1}{m+2}.$$
(3.3)

Lemma 3.1. The following

$$\left[\frac{1}{m_0+2}, \frac{m_0+1}{m_0+2}\right] \subset \left[\frac{1}{m+2}, \frac{m+1}{m+2}\right]$$
(3.4)

holds for any $m \in \mathbb{N}_1$.

Proof. Because the function $\frac{1}{m+2}$ is decreasing and the function $\frac{m+1}{m+2}$ is increasing, relation (3.4) follows.

Remark 3.1. In this case $I = \left[\frac{1}{m_0+2}, \frac{m_0+1}{m_0+2}\right]$, so for remaining of this section we shall consider $I = \left[\frac{1}{m_0+2}, \frac{m_0+1}{m_0+2}\right]$. Thus, for α_m , β_m defined by (3.1) and (3.2) we have $\alpha_m(x) \ge 0$ and $\beta_m(x) \ge 0$, for any $x \in I$ and $m \in \mathbb{N}_1$.

Taking into account the above remarks, we construct the sequence of Durrmeyer operators $(Q_{1,m})_{m \ge m_0}$ as follows. If $m \in \mathbb{N}_1$, we define the operator

$$(Q_{1,m}f)(x) = \frac{m+1}{m^m} \sum_{k=0}^m \binom{m}{k} ((m+2)x-1)^k (m+1-(m+2)x)^{m-k} \cdot \int_0^1 p_{m,k}(t)f(t)dt$$
(3.5)

for any $x \in \left[\frac{1}{m_0+2}, \frac{m_0+1}{m_0+2}\right]$.

Lemma 3.2. We have

 $(Q_{1,m}e_0)(x) = 1, (3.6)$

$$(Q_{1,m}e_1)(x) = x, (3.7)$$

and

$$(Q_{1,m}e_2)(x) = \frac{(m-1)(m+2)}{m(m+3)}x^2 + \frac{2(m+1)}{m(m+3)}x - \frac{m+1}{m(m+2)(m+3)}$$
(3.8)

for any $x \in I$ and $m \in \mathbb{N}_1$.

Proof. Results immediately from the definition above and (2.7).

Lemma 3.3. The following identities

$$(T_{m,0}Q_{1,m})(x) = 1, (3.9)$$

$$(T_{m,1}Q_{1,m})(x) = 0, (3.10)$$

and

$$(T_{m,2}Q_{1,m})(x) = \frac{m^3(-2x^2+2x) + m^2(-6x^2+6x-1) + m(-4x^2+4x-1)}{(m+2)(m+3)}$$
(3.11)

hold, for any $x \in I$ and $m \in \mathbb{N}_1$.

Proof. By using Lemma 3.2 and relation (1.7) we have

$$(T_{m,0}Q_{1,m})(x) = (Q_{1,m}e_0)(x) = 1,$$

$$(T_{m,1}Q_{1,m})(x) = m(Q_{1,m}\psi_x)(x) = m((Q_{1,m}e_1)(x) - x(Q_{1,m}e_0)(x)) = 0,$$

and

$$\begin{aligned} (T_{m,2}Q_{1,m})(x) &= m^2(Q_{1,m}\psi_x^2)(x) \\ &= m^2((Q_{1,m}e_2)(x) - 2x(Q_{1,m}e_1)(x) + x^2(Q_{1,m}e_0)(x)) \\ &= m^2\left(\frac{(m-1)(m+2)}{m(m+3)}x^2 + \frac{2(m+1)}{m(m+3)}x - \frac{m+1}{m(m+2)(m+3)} - 2x^2 + x^2\right), \end{aligned}$$
from where (3.11) follows.

from where (3.11) follows.

Lemma 3.4. We have that

$$\lim_{m \to \infty} (T_{m,0}Q_{1,m})(x) = 1, \tag{3.12}$$

$$\lim_{n \to \infty} \frac{(T_{m,2}Q_{1,m})(x)}{m} = 2x(1-x),$$
(3.13)

for any $x \in I$, and there exists $m(0) \in \mathbb{N}$ such that

$$\frac{(T_{m,2}Q_{1,m})(x)}{m} \le \frac{3}{2},\tag{3.14}$$

for any $x \in I$ and $m \in \mathbb{N}_1$, $m \ge m(0)$.

Proof. The relations (3.12) and (3.13) result taking (3.9) and (3.11) into account. By using the definition of limit of a function and because $x(1-x) \leq \frac{1}{4}$ for any $x \in [0,1]$, from (3.13) the relation (3.14) is obtained.

Theorem 3.1. Let $f : [0,1] \longrightarrow \mathbb{R}$ be a continuous function on [0,1]. Then

$$\lim_{m \to \infty} Q_{1,m} f = f \tag{3.15}$$

uniformly on I and there exists $m(0) \in \mathbb{N}$ such that

$$|(Q_{1,m}f)(x) - f(x)| \le \frac{5}{2}\omega\left(f;\frac{1}{\sqrt{m}}\right)$$
 (3.16)

for any $x \in I$ and $m \in \mathbb{N}_1, m \ge m(0)$.

Proof. Theorem 3.1 is a corollary of Theorem 1.3, for $s = 0, \alpha_0 = 0, \alpha_2 = 1, k_0 = 1$ and $k_2 = \frac{3}{2}$.

Theorem 3.2. If $f \in C([0,1]), x \in I, f$ is two times differentiable in x and $f^{(2)}$ is continuous on I, then

$$\lim_{m \to \infty} m((Q_{1,m}f)(x) - f(x)) = x(1-x)f^{(2)}(x).$$
(3.17)

Proof. We apply Theorem 1.3 for s = 2.

4. Durrmeyer operator preserving the test function e_0 and e_2

In this section, we construct a sequence of Durrmeyer operators as defined in section 2, which preserve the test functions e_0 and e_2 .

Imposing the conditions $(Q_m e_0)(x) = e_0(x)$ and $(Q_m e_2)(x) = e_2(x)$ for any $x \in I$ and $m \in \mathbb{N}_1$. Then, taking (2.5) and (2.7) into account, we obtain

$$\alpha_m(x) + \beta_m(x) = 1, \tag{4.1}$$

$$m(m-1)(\alpha_m(x))^2 + 4m\alpha_m(x) + 2 - (m+2)(m+3)x^2 = 0.$$

for any $x \in I$ and $m \in \mathbb{N}_1$. Since we are interest only in the positive valued functions α_m, β_m , an elementary computation leads to a unique solution for system (4.1), namely

$$\alpha_m(x) = \frac{-2m + \sqrt{\delta_m(x)}}{m(m-1)}, \quad \beta_m(x) = \frac{m^2 + m - \sqrt{\delta_m(x)}}{m(m-1)}, \quad (4.2)$$

where

$$\delta_m(x) = m(2m+2+(m-1)(m+2)(m+3)x^2), \tag{4.3}$$

for $x \in I$ and $m \in \mathbb{N}_1$.

Since $4\delta_m(x)$ is the discriminant of the second equation from (4.1), the above solutions exist and are positive if

$$x \ge \sqrt{\frac{2}{(m+2)(m+3)}}.$$
(4.4)

Lemma 4.1. Let $m \in \mathbb{N}_1$. Then $\beta_m(x) \ge 0, x \ge 0$ if and only if

$$0 \le x \le \sqrt{\frac{m+1}{m+3}}.\tag{4.5}$$

Proof. From $\beta_m(x) \ge 0$ we have $m^2 + m \ge \sqrt{\delta_m(x)}$, equivalent after calculus to $m+1 \ge (m+3)x^2$, from where (4.5) follows.

Lemma 4.2. Let
$$m \in \mathbb{N}_1$$
. If $x \in \left[\sqrt{\frac{2}{(m+2)(m+3)}}, \sqrt{\frac{m+1}{m+3}}\right]$, then $\alpha_m(x) \ge 0$ and $\beta_m(x) \ge 0$.

Proof. Results immediately from (4.4) and (4.5).

Lemma 4.3. The following inclusions

$$\left[\sqrt{\frac{2}{(m_0+2)(m_0+3)}}, \sqrt{\frac{m_0+1}{m_0+3}}\right] \subset \left[\sqrt{\frac{2}{(m+2)(m+3)}}, \sqrt{\frac{m+1}{m+3}}\right] \subset [0,1] \quad (4.6)$$

hold, for any $m \in \mathbb{N}_1$.

Proof. By using that the function $\sqrt{\frac{2}{(m+2)(m+3)}}$ is decreasing and the function $\sqrt{\frac{m+1}{m+3}}$ is increasing, relations (4.6) follows.

Remark 4.1. For the remaining of this section we shall consider $I = \left[\sqrt{\frac{2}{(m_0+2)(m_0+3)}}, \sqrt{\frac{m_0+1}{m_0+3}}\right]$. Thus, for α_m , β_m defined by (4.2) we have $\alpha_m(x) \ge 0$ and $\beta_m(x) \ge 0$, for any $x \in I$ and $m \in \mathbb{N}_1$.

If $m \in \mathbb{N}_1$ and $f \in L_1([0,1])$, we define the operator

$$(Q_{2,m}f)(x) = \frac{m+1}{(m(m-1))^m} \sum_{k=0}^m \binom{m}{k} \left(-2m + \sqrt{\delta_m(x)}\right)^k \cdot \left(m^2 + m - \sqrt{\delta_m(x)}\right)^{m-k} \cdot \int_0^1 p_{m,k}(t)f(t)dt$$
(4.7)

for any $x \in I$.

Lemma 4.4. We have

$$(Q_{2,m}e_0)(x) = 1, (4.8)$$

$$(Q_{2,m}e_1)(x) = \frac{\sqrt{\delta_m(x)} - m - 1}{(m-1)(m+2)},$$
(4.9)

$$(Q_{2,m}e_2)(x) = x^2, (4.10)$$

for any $x \in I$ and $m \in \mathbb{N}_1$.

Proof. Results immediately from the condition above and (2.6).

Lemma 4.5. The following identities

$$(T_{m,0}Q_{2,m})(x) = 1, (4.11)$$

$$(T_{m,1}Q_{2,m})(x) = m\left(\frac{\sqrt{\delta_m(x)} - m - 1}{(m-1)(m+2)} - x\right),$$
(4.12)

and

$$(T_{m,2}Q_{2,m})(x) = 2m^2 x \left(x - \frac{1}{m+2} \left(1 + \frac{\sqrt{\delta_m(x)} - 2m}{m-1} \right) \right)$$
(4.13)

hold, for any $x \in I$ and $m \in \mathbb{N}_1$.

Proof. By using Lemma 4.4 and relation (1.7), the relations (4.11)-(4.13) follows. \Box Lemma 4.6. The following identity

$$\lim_{m \to \infty} m \left(\frac{\sqrt{\delta_m(x)} - m - 1}{(m-1)(m+2)} - x \right) = x - 1$$
(4.14)

holds for any $x \in I$.

Proof. We have

$$\lim_{m \to \infty} m \left(\frac{\sqrt{\delta_m(x)} - m - 1}{(m-1)(m+2)} - x \right) = \\ = \lim_{m \to \infty} \left(\frac{m^2}{(m-1)(m+2)} \cdot \frac{\sqrt{\delta_m(x)} - (m-1)(m+2)x}{m} - \frac{m(m+1)}{(m-1)(m+2)} \right) \\ = -1 + \lim_{m \to \infty} \frac{\sqrt{\delta_m(x)} - (m-1)(m+2)x}{m}.$$

and after calculus, identity (4.14) results.

Lemma 4.7. We have that

$$\lim_{m \to \infty} (T_{m,0}Q_{2,m})(x) = 1, \tag{4.15}$$

$$\lim_{m \to \infty} \frac{(T_{m,2}Q_{2,m})(x)}{m} = 2x(1-x), \tag{4.16}$$

for any $x \in I$, and there exists $m(0) \in \mathbb{N}$ such that

$$\frac{(T_{m,2}Q_{2,m})(x)}{m} \le \frac{3}{2} \tag{4.17}$$

for any $x \in I$ and $m \in \mathbb{N}_1$, $m \ge m(0)$.

Proof. The relations (4.15) and (4.16) result taking (4.11), (4.13) and (4.14) into account. By using the definition of the limit of a function and because $x(1-x) \leq \frac{1}{4}$ for any $x \in [0,1]$, from (4.16) the relation (4.17) is obtained.

Theorem 4.1. Let $f : [0,1] \longrightarrow \mathbb{R}$ be a continuous function on [0,1]. Then

$$\lim_{m \to \infty} Q_{2,m} f = f \tag{4.18}$$

uniformly on I and there exists $m(0) \in \mathbb{N}$ such that

$$|(Q_{2,m}f)(x) - f(x)| \le \frac{5}{2}\omega\left(f;\frac{1}{\sqrt{m}}\right)$$
 (4.19)

for any $x \in I$ and $m \in \mathbb{N}_1, m \ge m(0)$.

Proof. Theorem 4.1 is a corollary of Theorem 1.3 for s = 0, $\alpha_0 = 0$, $\alpha_2 = 1$, $k_0 = 1$ and $k_2 = \frac{3}{2}$.

Theorem 4.2. If $f \in C([0,1]), x \in I$, f is two times differentiable in x and $f^{(2)}$ is continuous on I, then

$$\lim_{m \to \infty} m((Q_{2,m}f)(x) - f(x)) = (x - 1)f^{(1)}(x) + x(1 - x)f^{(2)}(x).$$
(4.20)

Proof. Taking Lemma 4.6 into account and applying Theorem 1.3 for s = 2 we obtain relation (4.20).

5. Durrmeyer operator preserving the test functions e_1 and e_2

In this section we construct a sequence of Durrmeyer operators as defined in section 2, which preserve the test functions e_1 and e_2 .

Imposing the conditions $(Q_m e_1)(x) = e_1(x)$ and $(Q_m e_2)(x) = e_2(x)$, for any $x \in I$ and any $m \in \mathbb{N}_1$ and taking (2.6) and (2.7) into account, we have

$$\frac{(\alpha_m(x) + \beta_m(x))^{m-1}}{m+2} \left((m+1)\alpha_m(x) + \beta_m(x) \right) = x$$
(5.1)

and

$$\frac{(\alpha_m(x) + \beta_m(x))^{m-2}}{(m+2)(m+3)} \left(m(m-1)\alpha_m^2(x) + 4m\alpha_m(x)(\alpha_m(x) + \beta_m(x)) + (5.2) \right)$$

 $+2(\alpha_m(x)+\beta_m(x))^2)=x^2.$ We note $t_m(x)=\alpha_m(x)+\beta_m(x)$ and from (5.1) and (5.2) we obtain that

$$\alpha_m(x) = \frac{(m+2)}{m} \frac{x}{t_m^{m-1}(x)} - \frac{1}{m} t_m^m(x), \ \beta_m(x) = t_m(x) - \alpha_m(x), \tag{5.3}$$

and the equation in $t_m^m(x)$

$$(m+1)t_m^{2m}(x) + (m(m+3)(m+2)x^2 - 2(m+1)(m+2)x)t_m^m(x) + (1-m)(m+2)^2x^2 = 0.$$
(5.4)

The discriminant of the equation (5.4) is

$$\Delta_m = (m+2)^2 m x^2 (8(m+1) - 4(m+1)(m+3)x + m(m+3)^2 x^2) \ge 0, \quad (5.5)$$

for any $x \in I$ and $m \in \mathbb{N}_1$.

We note $\delta_m(x) = m \left(8(m+1) - 4(m+1)(m+3)x + m(m+3)^2 x^2 \right)$, for any $x \in I$ and $m \in \mathbb{N}_1$.

Because $m \ge 2$, it results

$$(1-m)(m+2)^2 x^2 \le 0 \tag{5.6}$$

and then equation (5.4) has exactly one positive solution

$$t_m^m(x) = \frac{(m+2)x\left(2(m+1) - m(m+3)x + \sqrt{\delta_m}\right)}{2(m+1)}.$$
(5.7)

Lemma 5.1. Let $m \in \mathbb{N}_1$. Then $\beta_m(x) \ge 0$ if and only if

$$0 \le x \le \frac{m+2}{m+3}.$$
 (5.8)

Proof. From $\beta_m(x) \ge 0$ we have $m(m+3)x - 2m \le \sqrt{\delta_m}$, equivalent after some calculus with (5.8).

Lemma 5.2. Let $m \in \mathbb{N}_1$. Then $\alpha_m(x) \ge 0$ if and only if

$$x \ge \frac{2}{m+3}.\tag{5.9}$$

Proof. From $\alpha_m(x) \ge 0$ we have $m(m+3)x \ge \sqrt{\delta_m}$, equivalent after calculus with (5.9).

Lemma 5.3. Let $m \in \mathbb{N}_1$. If $x \in \left[\frac{2}{m+3}, \frac{m+2}{m+3}\right]$ then $\alpha_m(x) \ge 0$ and $\beta_m(x) \ge 0$. *Proof.* Results immediately from (5.8) and (5.9).

Lemma 5.4. The following inclusions

$$\left[\frac{2}{m_0+3}, \frac{m_0+2}{m_0+3}\right] \subset \left[\frac{2}{m+3}, \frac{m+2}{m+3}\right] \subset [0,1]$$
(5.10)

hold for any $m \in \mathbb{N}_1$.

Proof. By using that the function $\frac{2}{m+3}$ is decreasing and the function $\frac{m+2}{m+3}$ is increasing, the relation (5.10) follows.

If $m \in \mathbb{N}_1$ and $f \in L_1([0,1])$ we define the operator

$$(Q_{3,m}f)(x) = (m+1)\sum_{k=0}^{m} \binom{m}{k} (\alpha_m(x))^k (\beta_m(x))^{m-k} \int_0^1 p_{m,k}(t)f(t)dt, \quad (5.11)$$

where $\alpha_m(x)$ and $\beta_m(x)$ are given by the relations (5.3), for any $x \in \left[\frac{2}{m_0+3}, \frac{m_0+2}{m_0+3}\right]$.

Remark 5.1. In this section we note $I = \left\lfloor \frac{2}{m_0+3}, \frac{m_0+2}{m_0+3} \right\rfloor$.

Lemma 5.5. We have

$$(Q_{3,m}e_0)(x) = \frac{(m+2)x(2(m+1) - m(m+3)x + \sqrt{\delta_m(x)})}{2(m+1)},$$
 (5.12)

$$(Q_{3,m}e_1)(x) = x, (5.13)$$

$$(Q_{3,m}e_2)(x) = x^2, (5.14)$$

for any $x \in I$ and any $m \in \mathbb{N}_1$.

Proof. Results immediately from the condition above and (2.5).

Lemma 5.6. The following identities

$$(T_{m,0}Q_{3,m})(x) = t_m^m(x), (5.15)$$

$$(T_{m,1}Q_{3,m})(x) = mx(1 - t_m^m(x)), (5.16)$$

$$(T_{m,2}Q_{3,m})(x) = -m^2 x^2 (1 - t_m^m(x))$$
(5.17)

hold for any $x \in I$ and for any $m \in \mathbb{N}_1$.

Proof. By using Lemma 5.5 and the relation (1.7) the relations (5.15)-(5.17) follow. \Box

Lemma 5.7. The following identities

$$\lim_{m \to \infty} t_m^m(x) = 1 \tag{5.18}$$

and

$$\lim_{m \to \infty} m(1 - t_m^m(x)) = \frac{2(x - 1)}{x}$$
(5.19)

hold.

Proof. We have

$$\lim_{m \to \infty} t_m^m(x) = \frac{x}{2} \lim_{m \to \infty} \frac{\delta_m(x) - (m(m+3)x - 2(m+1))^2}{\sqrt{\delta_m(x)} + m(m+3)x - 2(m+1)}$$
(5.20)

and after calculus, (5.18) follows. Taking (5.7) into account, similarly (5.19) is obtained. $\hfill\square$

Lemma 5.8. We have that

$$\lim_{n \to \infty} (T_{m,0}Q_{3,m})(x) = 1, \tag{5.21}$$

$$\lim_{m \to \infty} \frac{(T_{m,2}Q_{3,m})(x)}{m} = 2x(1-x),$$
(5.22)

for any $x \in I$ and there exists $m(0) \in \mathbb{N}$ such that

r

$$(T_{m,0}Q_{3,m})(x) \le 2 \tag{5.23}$$

and

$$\frac{(T_{m,2}Q_{3,m})(x)}{m} \le \frac{3}{2} \tag{5.24}$$

for any $x \in I$ and any $m \in \mathbb{N}_1, m \ge m(0)$.

Proof. The relations (5.21) and (5.22) result taking (5.15), (5.18) and (5.19) into account. By using the definition of the limit of a function and because $x(1-x) \leq \frac{1}{4}$ for any $x \in [0, 1]$, from (5.20) and (5.21) the relations (5.22) and (5.23) are obtained. \Box

Theorem 5.1. Let $f : [0,1] \longrightarrow \mathbb{R}$ be a continuous function on [0,1], then

$$\lim_{n \to \infty} (Q_{3,m}f)(x) = f(x) \tag{5.25}$$

uniformly on I and there exists $m(0) \in \mathbb{N}$ such that

$$|(Q_{3,m}f)(x) - f(x)| \le \frac{7}{2}\omega\left(f;\frac{1}{\sqrt{m}}\right),$$
(5.26)

for any $x \in I$ and $m \in \mathbb{N}_1, m \ge m(0)$.

Proof. Theorem 5.1 is a corollary of Theorem 1.3 for s = 0, $\alpha_0 = 0$, $\alpha_1 = 1$, $k_0 = 2$ and $k_2 = \frac{3}{2}$.

Theorem 5.2. If $f \in C([0,1]), x \in I, f$ is two times differentiable in x and $f^{(2)}$ is continuous on I then

$$\lim_{m \to \infty} m((Q_{3,m}f)(x) - f(x)) = \frac{2(1-x)}{x} f(x) + 2(x-1)f^{(1)}(x) + x(x-1)f^{(2)}(x).$$
(5.27)

Proof. Taking Lemma 5.8 into account and applying Theorem 1.3 for s = 2, we obtain the relation (5.27).

References

- O. Agratini, An asymptotic formula for a class of approximation precesses of King-type, Studia Sci. Math. Hungar. 47 (2010), no. 4, 435–444.
- [2] P.I. Braica, O.T. Pop and A.D. Indrea, About a King type operator, Appl. Math. Sci. 6 (2012), no. 1, 145–148.
- [3] P.I. Braica, O.T. Pop and D. Bărbosu, Schurer operators of King-type, (submitted).
- [4] M.M. Derriennic, Sur l'aproximation des functions intégrables sur [0,1] par des polynômes de Berstein modifés, J. Approx. Theory 31 (1981), 325–343.
- [5] J.L. Durrmeyer, Une formule d'inversion de la Transformée de Laplace: Application à la théorie, des moments, Thèse de 3e cycle, Faculté des Sciences de l'Université de Paris, 1967.
- [6] J.P. King, Positive linear operators wich preserve x^2 , Acta Math. Hungar. **99** (2003), no. 3, 203–208.
- [7] A. Kristály, V. Rădulescu and C. Varga, Variational Principles in Mathematical Physics, Geometry, and Economics: Qualitative Analysis of Nonlinear Equations and Unilateral Problems, Encyclopedia of Mathematics and its Applications 136, Cambridge University Press, Cambridge, 2010.
- [8] O.T. Pop, The generalization of Voronovskaja's theorem for a class of liniar and positive operators, *Rev. Anal. Numer. Théor. Approx.* 34 (2005), no. 1, 79–91.
- [9] D.D. Stancu, Gh. Coman, O. Agratini and R. Trâmbiţaş, Numerical analyzis a nd approximation theory, 1, Presa Universitară Clujeană, Cluj-Napoca, 2001 (in Romanian).

(Ovidiu T. Pop) National College "'Mihai Eminescu", 5 Mihai Eminescu Street, 440014 Satu Mare, Romania

 $E\text{-}mail\ address:\ \texttt{ovidiutiberiu@yahoo.com}$

(Adrian D. Indrea) National College "Doamna Stanca", 5 Ștefan cel Mare Street, 440014 Satu Mare, Romania

 $E\text{-}mail\ address: \texttt{adrian.indrea@yahoo.com}$

(Petru I. Braica) Secondary School "Grigore Moisil", 1 Mileniului Street, 440037 Satu Mare, Romania

E-mail address: petrubr@yahoo.com